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Example

1. If tan A  then find the other trigonometric ratio of angle A.

Watch Video Solution

= ,
3

4

2. If  are acute angles such that  then prove

that 

Watch Video Solution

∠A and ∠P sin A = sin P

∠A = ∠P

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LPtdc8lRTh0d
https://dl.doubtnut.com/l/_R0PRCyzcIjys


3. Consider a triangle PQR ,right at R ,in which PQ = 29 units ,QR =21

units and then find the values of 

(i) 

Watch Video Solution

∠PQR = θ,

cos2 θ + sin2 θ and (ii)cos2 θ − sin2 θ

4. In  , right angle is at B,AB = 5cm and 

Determine the lengths of the sides BC and AC.

Watch Video Solution

ΔABC ∠ACB = 30∘

5. A chord of a circle of radius 6cm is making an angle  at the

centre.Find the length of the chord.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_N4D5GYwC1lZM
https://dl.doubtnut.com/l/_Mnv4CZdkhP3r
https://dl.doubtnut.com/l/_XcI55kJLo4Ww


6. In  ,right angle is at Q,PQ =3cm and PR =6cm Determine 

Watch Video Solution

ΔPQR

∠QPR and ∠PRQ

7. If where 

 find A and B

Watch Video Solution

sin(A − B) = , cos(A + B) = ,
1

2

1

2

0∘ ∠A + B ≤ 90∘ and A > B

8. Evaluate 

Watch Video Solution

sec 35∘

cos ec55∘

9. If  , where 7A is an acute angle ,find the value

of A .

W t h Vid S l ti

cos 7A = sin(A − 6∘ )

https://dl.doubtnut.com/l/_Xd4CfAxRjRyz
https://dl.doubtnut.com/l/_4V08FCeA77Jt
https://dl.doubtnut.com/l/_uFVuCRwfyHJ1
https://dl.doubtnut.com/l/_RSyMdE16jJqA


Watch Video Solution

10. If  then prove that A+B 

Watch Video Solution

sin A = cos B, = 90∘

11. Express in terms of trigonometric ratio of angles

between 

Watch Video Solution

sin 81∘ + tan 81∘

0∘ and 45∘

12. If A , B and C are interior angles of triangle ABC ,then show that sin

Watch Video Solution

( ) = cos( )
B + C

2

A

2

13. Show that cot θ + tan θ = sec θ cos ecθ

https://dl.doubtnut.com/l/_RSyMdE16jJqA
https://dl.doubtnut.com/l/_yHkjJDYvLEjF
https://dl.doubtnut.com/l/_Zrx7khMgviav
https://dl.doubtnut.com/l/_ktLvVVWk2EIc
https://dl.doubtnut.com/l/_PTQb8FdKOWmi


Do This

Watch Video Solution

14. Show that 

Watch Video Solution

tan2 θ + tan4 θ = sec4 θ − sec2 θ

15. Prove that 

Watch Video Solution

√ = cos ecθ + cot θ, 0 ≤ θ ≤ 90∘1 + cos θ

1 − cos θ

1. If  ,find the relation between x and y.

Watch Video Solution

x = a cos θ and y = b sin θ

https://dl.doubtnut.com/l/_PTQb8FdKOWmi
https://dl.doubtnut.com/l/_adi2u5cp27Zm
https://dl.doubtnut.com/l/_SCItiL1IqpSn
https://dl.doubtnut.com/l/_TwOufPgFDXc0


2. Find (i)  in the adjacent triangle. 

Watch Video Solution

sin C(ii)cos C and (iii)tan C

3. In triangle XYZ, is right angle , XZ =17cm and YZ =15 cm then find 


(1) 

Watch Video Solution

∠Y

sin X(ii)cos Z(iii)tan X

4. In a triangle PQR with right angle at Q , the value of

, then find sin x and cos x

Watch Video Solution

∠Pisx, PQ = 7cm and QR24cm

https://dl.doubtnut.com/l/_U8NyZgNfCU79
https://dl.doubtnut.com/l/_jviIH0Z6U2jK
https://dl.doubtnut.com/l/_nilKZgwK40AY


Try This

5. Find the values of cosec

Watch Video Solution

60∘ , sec 60∘ and cot 60∘

6. If then find 

Watch Video Solution

sin C = ,
15

17
cos C,

7. If  then find sec x.

Watch Video Solution

tan x = ,
5

12

8. If  then find 

Watch Video Solution

cos ecθ = ,
25

7
cot θ

https://dl.doubtnut.com/l/_oDs3lTkbQDpq
https://dl.doubtnut.com/l/_urRM9z6aNlPm
https://dl.doubtnut.com/l/_frlulgbnGpBJ
https://dl.doubtnut.com/l/_6RKSil5KHyRf


1. Write length of "Hypotenuse ","Opposite side "and "Adjacent side "for

the given angles in the given triangles.

1. Foa angle C 

. For angle A 

Watch Video Solution

2. In a right angle triangle ABC, right angle is at C, BC+CA = 23 cm and

BC-CA = 7cm ,then find sin A tan B

Watch Video Solution

https://dl.doubtnut.com/l/_rwT2tOEaNBSG
https://dl.doubtnut.com/l/_9qnCbSJ8m3Hu


3. Express sec A and cos A in terms of sides of right angle triangle

Watch Video Solution

4. Find the values of

 by using the

ratio concepts .

Watch Video Solution

sin 30∘ , cos 30∘ , tan 30∘ , cos ec30∘ , sec 30∘ and cot 30∘

5. Find the values for tan 

Watch Video Solution

90∘ , cos ec90∘ , sec 90∘ and cot 90∘

6. Evaluate the following and justify your answer. 

(i) 

W t h Vid S l ti

sin2 15∘ + sin2 75∘

cos2 36∘ + cos2 54∘

https://dl.doubtnut.com/l/_zXO2ZnJxsd0t
https://dl.doubtnut.com/l/_3ufaLik2FUMS
https://dl.doubtnut.com/l/_IPpbNmUCoCXD
https://dl.doubtnut.com/l/_xXOCI2Z7Y8Ju


Think And Discuss

Watch Video Solution

7. Evaluate the following and justify your answer. 

Watch Video Solution

sin 5∘ cos 85∘ + cos 5∘ sin 85∘

8. Evaluate the following and justify your answer. 

Watch Video Solution

sec 16∘ cos ec74∘ − cot 74∘ tan 16∘

1. Discuss among your friends 

Does  exists for some value of angle?

Watch Video Solution

sin x =
4
3

https://dl.doubtnut.com/l/_xXOCI2Z7Y8Ju
https://dl.doubtnut.com/l/_QZcIS2Zii5MV
https://dl.doubtnut.com/l/_qbqThHAsbGee
https://dl.doubtnut.com/l/_XQTLr0YM0llH


2. Discuss among your friends 

The value of sin A and cos A is always less than 1, Why?

Watch Video Solution

3. Discuss among your friends 

tan A is product of tan and A

Watch Video Solution

4. Is equal to tan A ?

Watch Video Solution

sin A

cos A

5. IS  equal to cot A ?

Watch Video Solution

cos A

sin A

https://dl.doubtnut.com/l/_XQTLr0YM0llH
https://dl.doubtnut.com/l/_RluJFwxRVBLp
https://dl.doubtnut.com/l/_j1rVSi3CcOPR
https://dl.doubtnut.com/l/_55gtO4PAFLVZ
https://dl.doubtnut.com/l/_PzUCqRuZwx33


6. Discuss with your friends about the following conditions: 

What can you say about  Is the defined ? Why ?

Watch Video Solution

cos ec0∘ = ?
1

sin 0∘

7. Discuss with your friends about the following conditions: 

What can you say about Is it defined ? Why ?

Watch Video Solution

cot 0∘ =
1

tan 0∘

8. Discuss with your friends about the following conditions: 

Why?

Watch Video Solution

sec 0∘ = 1

https://dl.doubtnut.com/l/_PzUCqRuZwx33
https://dl.doubtnut.com/l/_YQzD49Ud0p6I
https://dl.doubtnut.com/l/_dWexOee3nGSn
https://dl.doubtnut.com/l/_yYKLCiJr6Wiy


9. Ovserve the above table 

What can you say about the values of sin A and cos A ,as the value of

angle A increases from ? 

If  then Is the true? 

If  then , Is it true ? Discuss.

Watch Video Solution

0∘ to90∘

A ≥ B sin ≥ sin B,

A ≥ B, cos A ≥ cos B

10. Prove that 

Watch Video Solution

= cos 60∘1 − tan2 30∘

1 + tan2 30∘

11. For which value of an acute angle 

is true ? 

For which value of  above equation is not defined?

Watch Video Solution

θ, (i) + = 4
cos θ

1 − sin θ

cos θ

1 + sin θ

0∘ ≤ θ ≤ 90∘ ,

https://dl.doubtnut.com/l/_a8KevYsiHrPM
https://dl.doubtnut.com/l/_olLhQkAzYmTn
https://dl.doubtnut.com/l/_MdqNU3FSstgh


Exercise 11 1

12. Check and discuss the above relations in the case of angle between

 whether they hold for these angles or not? 

Watch Video Solution

0∘ and 90∘

13. Prove that 

Watch Video Solution

sin2 30∘ + cos2 30∘ = 1

1. In right angle triangle ABC, 8cm ,15 cm and 17 cm are the length of

AB,BC and CA respectively , Then find 

Watch Video Solution

sin A, cos A and tan A.

https://dl.doubtnut.com/l/_PdKTbPGiQskk
https://dl.doubtnut.com/l/_x8x49lKCEo97
https://dl.doubtnut.com/l/_DnMuN3siIVpA


2. The sides of a right angle triangle PQR are PQ = 7cm , PR =25 cm and

 respectively , Then find tan P -tan R

Watch Video Solution

∠Q = 90∘

3. In a right angle triangle ABC with right angle at B , in which a= 24

units , b = 25 units and  then find sin A tan A 

Watch Video Solution

∠BAC = θ, (A < 90∘ )

4. If then find 

Watch Video Solution

cos A = ,
12

13
sin A and tan A(A < 90∘ )

5. If 3 tan A =4 ,then find sin A and cos A

Watch Video Solution

https://dl.doubtnut.com/l/_DnMuN3siIVpA
https://dl.doubtnut.com/l/_gkEoU8yeTGPP
https://dl.doubtnut.com/l/_EmIuLujSTdfO
https://dl.doubtnut.com/l/_A6PJEgbg8WZz
https://dl.doubtnut.com/l/_rfqUViaxBKIC


6. In  are acute angles such that

 then show that 

Watch Video Solution

ΔABC and ΔXY Z, if ∠A and ∠X

cos A = cos X ∠A = ∠X

7. Given  then evaluate (i) 

Watch Video Solution

cot θ = ,
7
8

            (ii)
(1 + sin θ)(1 − sin θ)

(1 + cos θ)(1 − cos θ)

(1 + sin θ)

cos θ

8. In a right angle triangle ABC, right angle is at B ,If tan  , then

find the value of 

(i)

Watch Video Solution

A = √3

sin A cos C + cos A sin C                               (ii)cos A cos C − sin A sin C

https://dl.doubtnut.com/l/_rfqUViaxBKIC
https://dl.doubtnut.com/l/_jmupfhKlRs4G
https://dl.doubtnut.com/l/_SPNN4bWpWho1
https://dl.doubtnut.com/l/_B3WUxw8oKcH2


Exercise 11 2

1. Evaluate the following 

Watch Video Solution

sin 45∘ + cos 45∘

2. Evaluate the following 

Watch Video Solution

cos 45∘

sec 30∘ + cos ec60∘

3. Evaluate the following 

Watch Video Solution

sin 30∘ + tan 45∘ − cos ec60∘

cot 45∘ + cos 60∘ − sec 30∘

https://dl.doubtnut.com/l/_1Zrw9D2ilD3p
https://dl.doubtnut.com/l/_Bzp94J0jH9Ri
https://dl.doubtnut.com/l/_3MvilUgx1jLM


4. Evaluate the following 

Watch Video Solution

2 tan2 45∘ + cos2 30∘ − sin2 60∘

5. Evaluate the following 

Watch Video Solution

sec2 60∘ − tan2 60∘

sin2 30∘ + cos2 30∘

6. 

A. 

B. 

C. 

D. 

=
2tan 30∘

1 + tan2 45∘

sin 60∘

cos 60∘

tan 30∘

sin 30∘

https://dl.doubtnut.com/l/_2an7apyR2CSq
https://dl.doubtnut.com/l/_GsKBRObgl8ZI
https://dl.doubtnut.com/l/_bA2GFtCw8Wwq


Answer: c

Watch Video Solution

7. 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

=
1 − tan2 45∘

1 + tan2 45∘

tan 90∘

1

sin 45∘

0

8. 

A. 

=
2tan 30∘

1 − tan2 30∘

cos 60∘

https://dl.doubtnut.com/l/_bA2GFtCw8Wwq
https://dl.doubtnut.com/l/_Bu2OcQATDBeb
https://dl.doubtnut.com/l/_P2P1VtrOz0iC


B. 

C. 

D. 

Answer: c

Watch Video Solution

sin 60∘

tan 60∘

sin 30∘

9. Evaluate  What is the value of 

 What can you conclude ?

Watch Video Solution

sin 60∘ cos 30∘ − sin 30∘ cos 60∘ ,

sin(60∘ − 30∘ )

10. Is it right to say that

Watch Video Solution

cos(60∘ + 30∘ ) = cos 60∘ cos 30∘ − sin 60∘ sin 30∘

https://dl.doubtnut.com/l/_P2P1VtrOz0iC
https://dl.doubtnut.com/l/_Yitw7SGBlVgu
https://dl.doubtnut.com/l/_Ez0LTGwGvI8a
https://dl.doubtnut.com/l/_37iUG2uLt1bG


Exercise 11 3

11. In right angle triangle  ,right angle at Q,PQ = 6cm and 

 Determine the lengths of QR and PR.

Watch Video Solution

ΔPQR

∠RPQ = 60∘

12. In right angle is at Y,YZ =x, and XZ =2x Then determine 

Watch Video Solution

ΔXY Z,

∠Y XZ and ∠Y ZX.

13. Is it right to say that  ? Justify your

answer.

Watch Video Solution

sin(A + B) = sin A + sin B

https://dl.doubtnut.com/l/_37iUG2uLt1bG
https://dl.doubtnut.com/l/_VegTMlIE89yI
https://dl.doubtnut.com/l/_OoYeMqoQDiuw


1. Evaluate 

Watch Video Solution

tan 36∘

cot 54∘

2. Evaluate 

Watch Video Solution

cos 12∘ − sin 78∘

3. Evaluate 

Watch Video Solution

cos ec31∘ − sec 59∘

4. Evaluate 

sin 15∘ sec 75∘

https://dl.doubtnut.com/l/_fKSRziw0j8xc
https://dl.doubtnut.com/l/_YGE2cbWAOmmM
https://dl.doubtnut.com/l/_kd4iKY5Rc60M
https://dl.doubtnut.com/l/_V8YnobDnouEf


Watch Video Solution

5. Evaluate 

Watch Video Solution

tan 26∘ tan 64∘

6. Show that 

Watch Video Solution

tan 48∘ tan 16∘ tan 42∘ tan 74∘ = 1

7. Show that 

Watch Video Solution

cos 36∘ cos 54∘ − sin 36∘ sin 54∘ = 0

https://dl.doubtnut.com/l/_V8YnobDnouEf
https://dl.doubtnut.com/l/_EAetpozrgMd1
https://dl.doubtnut.com/l/_wbGxnZ9e7HC3
https://dl.doubtnut.com/l/_PZKrtnQRjVSU
https://dl.doubtnut.com/l/_pMEDliyTiw9c


8. If tan 2A  where 2A is an acute angle , Find the

value of A .

Watch Video Solution

= cot(A − 18∘ )

9. If tan A  where A and B are acute angles prove that

Watch Video Solution

= cot B

A + B = 90∘

10. If A , B and C are interior angles of a triangle ABC, then show that

Watch Video Solution

tan( ) = cot( )
A + B

2

C

2

11. Expression  in terms of trigonometric ratios of

angles between 

cos 75∘ + cos 65∘

0∘ and 45∘

https://dl.doubtnut.com/l/_pMEDliyTiw9c
https://dl.doubtnut.com/l/_10ziHF4gzrIZ
https://dl.doubtnut.com/l/_C8HIDSOaBJGo
https://dl.doubtnut.com/l/_6XXfhHHeHtys


Exercise 11 4

Watch Video Solution

1. Evaluate the following 

Watch Video Solution

(1 + tan θ + sec θ)(1 + cot θ − cos ecθ)

2. Evaluate the following 

Watch Video Solution

(sin θ + cos θ)2 + (sin θ − cos θ)2

3. Evaluate the following 

Watch Video Solution

(sec2 θ − 1)(cos ec2θ − 1)

https://dl.doubtnut.com/l/_6XXfhHHeHtys
https://dl.doubtnut.com/l/_ZDWt1Aa2wqF6
https://dl.doubtnut.com/l/_BZVLj3tTN6sA
https://dl.doubtnut.com/l/_PGt8tf35NpRZ


4. Show that 

Watch Video Solution

(cos ecθ − cot θ)
2

=
1 − cos θ

1 + cos θ

5. Show that 

Watch Video Solution

√ = sec A + tan A
1 + sin A

1 − sin A

6. Show that 

Watch Video Solution

= tan2 A
1 − tan2 A

cot2 A − 1

7. Show that 

Watch Video Solution

− cos θ = tan θ. sin θ
1

cos θ

https://dl.doubtnut.com/l/_PGt8tf35NpRZ
https://dl.doubtnut.com/l/_GnK0DPilQOQa
https://dl.doubtnut.com/l/_G9HCNeE66Ga5
https://dl.doubtnut.com/l/_Sk5LWMuYsq2H
https://dl.doubtnut.com/l/_cxhpK6sdA5iM


8. Simplify sec A 

Watch Video Solution

(1 − sin A)(sec A + tan A)

9. Prove that

Watch Video Solution

(sin A + cos ecA)2 + (cos A + sec A)2 = 7 + tan2 A + cot2 A

10. Simplify 

Watch Video Solution

(1 − cos θ)(1 + cos θ)(1 + cot2 θ).

11. If  then what is the value of ?

Watch Video Solution

sec θ + tan θ = p, sec θ − tan θ

https://dl.doubtnut.com/l/_7APW4FEoozEC
https://dl.doubtnut.com/l/_PJS0rWvrCT7K
https://dl.doubtnut.com/l/_lGsobxs4nD2H
https://dl.doubtnut.com/l/_UDVsMiBwrKKP
https://dl.doubtnut.com/l/_26x2HTqIGT10


Optional Exercise

12. If  then prove that 

Watch Video Solution

cos ecθ + cot θ = k, cos θ =
k2 − 1

k2 + 1

1. Prove that 

Watch Video Solution

=
cot θ − cos θ

cot θ + cos θ

cos ecθ − 1

cos ecθ + 1

2. Prove that  [use the identity 

Watch Video Solution

=
sin θ − cos θ + 1

sin θ + cos θ − 1

1

sec θ − tan θ

sec2 θ = 1 + tan2 θ]

3. Prove that 

Watch Video Solution

(cos ecA − sin A)(sec A − cos A) =
1

tan A + cot A

https://dl.doubtnut.com/l/_26x2HTqIGT10
https://dl.doubtnut.com/l/_3LRznfW0JosA
https://dl.doubtnut.com/l/_NHUfz3GQcQp1
https://dl.doubtnut.com/l/_5brXYwkePKwo


4. Prove that 

Watch Video Solution

=
1 + sec A

sec A

sin2 A

1 − cos A

5. Show that 

Watch Video Solution

( ) = ( )
2

= tan2 A
1 + tan2 A

1 + cot2 A

1 − tan A

1 − cot A

6. Prove that 

Watch Video Solution

= (
(sec A − 1)

(sec A + 1)

1 − cos A

(1 + cos A)

https://dl.doubtnut.com/l/_5brXYwkePKwo
https://dl.doubtnut.com/l/_WVonFFbq0bOX
https://dl.doubtnut.com/l/_6aQysMmXBJPW
https://dl.doubtnut.com/l/_RO9tRiDVW8jg

